sam2*CurMon:Entry$ sam2*CurMon {ErrorFlag==0} asym_sam2/ppm:pattern_number {ErrorFlag==0) asym_sam?2

c = B u Entries 80272
S 3 - evtlree ; H "
3 & 10000 — | 20000 I : Mean ~4.579
X I e 32E Bl o5 G X X 0% Bk I W
E 2.5 i ‘Iﬁﬂﬂﬂgx §§§§:ﬁ: KK 2}:?}:— Hﬁ ggrﬁ:}:x}: % i 420 Std Dev 1687
LT3 ] TT CTTTT T AT | TT TTTTTT T T |
4 S8000 Mean 2.651 T TTTT TITTIT T 7T T T B Jﬂ [
i 10000{ i Lh | Underflow 2.106e+04
B I 400—
. Std Dev  0.09303 5000 [ I Overflow 2.093e+04
6000 — i . '
] ' 380 L ||t
1.5 — i B [
- ! 4000 5000 [- 360 - HL' I
- ¢ I ; :
= ' . i 100000 | | 1 1 L
- - 0L LLLP P L LELL Ly LD )] L) 340 _
0sh- : % % 2000~ SV e S s e e i
L i . | N — 1 EDUD_ MK ot X 2K M MK X MK B
: + s x P P -
: o o = B B x e i K * i BEU —
- ; ! ; - 20000 - -
m : | ] l | I A :":1“3 D |1 | |l 1 11 1 | L 1 1 1 | L 1 1 1 | 1 111 | L1 11 Ll | | | 11 | 1 | | I | I | | 1 1 | 1 1 | | 1 :"i‘IDS — 1 1 1 1 | L 1 1 1 | 1 1 1 | 1 1 1 | | 1 1 1 | L 1 1 1
0 200 300 400 00 23 24 25 26 2.7 28 29 3 0 20 40 60 80 100 120 -3000 -2000 -1000 0 1000 2000 3000
Entry$ sam2*CurMon pattern_number ppm

run5463 000 sam2.png



sam4*CurMon:Entry$

sam4*CurMon

1.5

0.5

%

run5463 000 sam4.png

NP . BTLIES
T T

o T
Jd

00
Entry$

9000

8000

7000

6000

5000

4000

3000

2000

1000

sam4*CurMon {ErrorFlag==0}

evilree

Entries 321251

Mean 2.554

Std Dev 0.05559

5 2.7 2.75

sam4*CurMon

10000

5000 T

-5000

10000

asym_sam4/ppm:pattern_number {ErrorFlag==0}

KKKII
e
W

=
WO OH

4

w0

1
O
I

80

pattern_number

asym_sam4
B Entries 80272
900~ Mean ~18.15
800 :_ otd Dev 1529
B Underflow 6789
7001~ Overflow 6952
B .
600
500
400
300—
— 1 1 1 1 | | I I | | L1 1 1 | | I O | | L1 1 1 | | I I |
—3000 2000 1000 2000 3000
ppm




sam6*CurMon:Entry$

—e
co

—e

L

sam6*CurMon

—e
[

Ot o Bt e B L B
o a o S e

0.8

0.6

0.4

0.2

%

L

3

run5463 000 sam6.png

0C

40(

b

1 .z
k Ak
i o

- Ak
T

[ Ak,
Ty i o2
g Ak,

00

Entry$

x10°

14000

12000

10000

8000

6000

4000

2000

sam6*CurMon {ErrorFlag==0}

evilree

Entries 321251

Mean 1.702

Std Dev 0.01128

l 1
1.74 1.76

sam6*CurMon

asym_sam6/ppm:pattern_number {ErrorFlag==0}

2000

1500

T T 1T [ T 1T
ﬁx‘}{lﬁ{‘;{l

1000

500

umm

(555

3 W

-500 -

P K KKK MK KK K MK OHMK K MRXEHK K MK

[ XU % X X X X xR X X
_1500 = X xx o ox X s X, X

B b s

| e
_ _III|III|III|III|III|III|II
EDDDD 20 40 60 80 100 120

pattern_number

x10°

asym_samé

= Entries 80272
5000~ Mean -0.9255

i Std Dev 379.8
4000

i Underflow 0

I Overflow 0
3000
2000/—
1000—

D | L1 1 1 | | | | L1 1 1 | | I | | | | I I |
—3000 2000 —1000 0 1000 2000 3000
ppm




sam8*CurMon:Entry$ sam8*CurMon {ErrorFlag==0} asym_samg/ppm:pattern_number {ErrorFlag==0} asym_sam§8

EE 1.8 14000~ thTree 15001 ?nnn:— Entries 80272
3 164 : I | B : 5 g i Mean  0.03829
o £ |k nE 120001~ Sniies 32121 100003 oot s Sy X 0% x 6000
E 1 48 14 “ Al _ x% x}{}{xgx}{x % :n:%%:x 5 :x%%g MM N WX B Std Dev 276.8
o TR = Mean 1591 ?i"?.?’i?’fﬁ?’f?’f--fi?’f?’f%ﬁ"--?’i---ﬁ"?ff{?{ RXREXTRE T X =
¥ | 10000~ | ! T 5000 — Underflow 0
1.2 & i 5001 -
. ] Std Dev  0.01016 l i Overflow 0
Unll 8000 40001~
T 6000~ 3000
0.6 _ - _ I
E ¥ 8 4000 - 500 I 2000 :_
0.4F I i Evrvaorvll B .9 W 90 U Bl ol 1 M ool Wy !
: — E S el B :
- 2000 1000 = HH MR M MM b X 1000—
0.2~ | i % X * % % i
"I | : “l | .- "'l- | I. A :ﬁﬂi'lﬂ:3 _| [ P | Ll | _| [ 1 | L1 1 | L 1 1 | L 1 1 | L1 1 | [ | [ 1 ':{'IUS .-D_I [ 1 1 L1 1 1 L 1 1 | L 1 1 [ | L1 1 1
0 300 40( 00 q.54 1.56 1.58 1.6 1.62 1.64 0 20 40 60 80 100 120 —-3000 2000 —1000 0 1000 2000 3000
Entry$ sam8*CurMon pattern_number ppm

run5463 000 sam8.png



sam1*CurMon:Entry$

0

|
L il 1 i

3
run5463 000 sam1.png

| b
™
ot

L (]
ot

. (]

o
b HE
<] s
% A,
o

Entry$

14000

12000

10000

8000

6000

4000

2000

sam1*CurMon {ErrorFlag==0}

evilree

Entries 321251

Mean 2.299

Std Dev 0.01647

|
2

!"'.J_

|
3

4 236 2.38

sam1*CurMon

3000

2000

1000

-1000

-2000

-3000

asym_sam1/ppm:pattern_number {ErrorFlag==0}

-

. K K

| M X%
KKK KK X ww

K KKK S WowEx x

BT THX T T T w1 T xg

= T TTTI=®T - T T -T

-

At e

asym_sam1

= Entries 80272
3000

- Mean 2.722

2500 B Std Dev 616

B Underflow 0

20001~ Overflow 0
1500~
1000
500 —

D B I A | L1 1 | L1 1 1 | | I | L1 1 L1 1 1
—3000 2000 —1000 2000 3000
ppm




sam3*CurMon:Entry$ sam3*CurMon {ErrorFlag==0} asym_sama/ppm:pattern_number {ErrorFlag==0} asym_sama3

c 10000 1100F Entries 80272
5 : evilree : :
E | mﬂﬂﬂ_— | 8000 — o % ” 1000l Mean -5.572
2 - e A B it NI BB b :
E N EDDD@H{ MOCEMRHMHH T M XK THHN 22}:}{}{2}{}{ - B Std Dev 1458
v JE T 1 *x (R T T T THAE ST TTTTTH | TTTT TT TTTTT --}{S\E TT 900
8000 — Mean 4.69 g 7T T T B
N 4000 - Underflow 4584
I ; 800
u Std Dev 0.08922 2000 - Overflow 4563
B OF -
i - 2000 [ 600
— 3 4000 ; I
- E I 4000 ff- 5000
EDDD_— [ XX x X xxx XKD K X 400 —
: £, i —8000 :_}{ ot H = ;
-8 s : - x \ 300k
(0 ’!5' i %10 D|||||| ol v v b Ll _1DDDD_||||||||||||||||||||||||||':ai'lﬂ IS T U T T O U U U T O A A A AN O RO N A O
0 300 40( 00 4.3 4.4 4.5 4.6 4.7 4.8 4.9 5 0 20 40 60 80 100 120 -3000 -2000 —1000 0 1000 2000 3000
Entry$ sam3*CurMon pattern_number ppm

run5463 000 sam3.png



sam5*CurMon: Entry$ sam5*CurMon {ErrorFIag==0} asym_sam5/ppm:pattern_number {ErrorFlag==0} asym_sam5

5 — - Entries 80272
S 3.5 i 2500 4000
E ol evilree : H :
S i . 2000 = ¢ x - Mean ~1.874
EE-} l::' i Sniries 321251 ;i}{ ot }{}{}{}{i H i}{}{}{}{ }{i}{ e g}{g}{}{}{ g § BEDD__
12000 5 B
@ i ‘IEDDE_%K%_E}}%g%_M igi}}gx}{i g}}:g}{ﬁﬁ%ﬁ * X C Std Dev 495.4
- Mean 3.247 T TTTH I TTT L TTTTeT b bTT 7177l TiTl 717 3000
2.5 10000 B 1000 - - Underflow 0
. Std Dev 0.02058 sooll 2500 Overflow 0
2 | 8000 ; -
SE 6000 : ;
i - —007 1500
e T i 1000 :
I 4000 : T L 000k
05__ 5 EDUD__ E e }{}{}{ pd i}i}{ M X g }{}{}{}{ § EDD:_
: - : : S : — —Eﬂﬂﬂ [ e X # % :
m._ !EI '!"1 L1 @ IFi . | g ¢ 'I o :ﬁﬂi'lﬂ:3 D_I | 1 | L :I I B R R B R B SR RN S R ':{'IUS .-D_I L | c v b Iy I
0 00 )0 300 40( 00 3.15 3.2 3.25 3.3 3.35 0 20 40 60 80 100 120 -3000 -2000 -1000 0 1000 2000 3000
Entry$ sam5*CurMon pattern_number ppm

run5463 000 sam5.png



sam7*CurMon:Entry$ sam7*CurMon {ErrorFlag==0} asym_sam?7/ppm:pattern_number {ErrorFlag==0} asym_sam?
c N s Entries 80272
5 _ evtlree : -
E‘r 12000 __ 1500 n . — Mean -0.7994
~ § | Entries 321251 %1 . e o xx 5000~
E o - 1000 BESX 33X 500000 XXX xRN XX x%ﬁ M RN B Std Dev 347.8
' 10000 Mean 6.062 I T N
i - - 4000 Underflow 0
- I 500 [ i
B 8000 — Std Dev 0.02703 i Overflow 0
N 6000 = i
: : 500[} 2000
B 4000— i i
B B _‘I nnn :;" T - o '":;‘-:" e :
- i FRET SR 5 ] 1000
B S 2 UUD : :}{ :}{ :'_5{ :'_3{ :'_3{ § |
- - E T 3 i = p s e B
i BEEIL i ~1500 - i
EE_ | | ikl :":1“3 Dlllll |||||||||||||II L I 1 1 _II|||||||||||||||||||II|||'.:"":‘II::I:3 DIIIIlIIL |||I|IIII |II|||||
0 300 400 00 5.95 6 6.05 6.1 6.15 0 20 40 60 80 100 120 -3000 2000 -1000 0 1000 2000 3000
Entry$ sam7*CurMon pattern_number ppm

run5463 000 sam7.png



yield_sam2:pattern_number {ErrorFlag==0)} yi eld samz2 { EI'FDI'F|3.Q ==O} asym_sam2/ppm:pattern_number {ErrorFlag==0} asym_sam2/ppm {ErrorFlag==0}

0.019] 6000 hte M p 80000~ 3500 PairTree
; i Entries 160599 60000 HERRRRE T | I 1T+ 1 |- B Entries 160599
| %A, * — B —

0.0185 - " . 5000 - : 3000 '
& i Mean 0.0174 40000 - - Mean 0.2059

0.018 i LLLL LT | bk | ] L 2500~

40001 Std Dev 0.0003778 20000 ]| (Al L It i Std Dev 2.812e+04
0.0175 - N A A A A 2000~
BDDD_— O e A N e B
0.017 l 20000 (o UUTH LS T U 1500 :_
SR 2000~ THTTITTT | -
016508 1t HEREE : 40000~ 1000}
E 1000 [ 60000 [ 111 R 1 1 1 :_

0.016 = i e I N A e R e >00¢
_III|III|III|III|III|III|II:":1“3 D_Illlll I|IIII|IIII|IIII|IIIIIIII|I -EI:"I":"‘:"::I_III|III|III|III|III|III|II'.:"'CZ‘I':.‘I:3 Dl_lll III|III|III|III|I|I|III II|I

20 40 60 80 100 120 0.016 0.0165 0.017 0.0175 0.018 0.0185 0.019 0 20 40 60 80 100 120 —800086600064000620000 0 20000400006000080000
pattern_number yield_sam?2 pattern_number asym_samz2/ppm

run5463 000 pairTree sam2.png



yield_sam4:pattern_number {ErrorFlag==0)} yi eld sam4 { EI'FDI'F|3.Q ==O} asym_samd/ppm:pattern_number {ErrorFlag==0} asym_sam4/ppm {ErrorFlag==0}

0.0176 = h 50000 - :
: 6000F temp : i PairTree
0.0174 . I 400007 v + o1 trltlvs1r Txlvrltr 1 ] 3000
- 5000 B Entries 160599 LU TITT T_ T T B Entries 160599
0.0172k¢ & - 30000 -
5 I Mean 0.01676 - 2500~ Mean —6.541
: . 20000~ i
0.017 4000+ H B
i Std Dev  0.0001884 10000 HH 2000 - Std Dev  1.877e+04
0.0168 i § i
% 3000— 0 BEEEHEEEEEREEHHEEEEEEERE BEERHERERR 8 -
0.0166 [gH i - 1500 —
: - 10000 i
0.0164 4 2000 Z
0.0162F : i 30000 i
B 1000 — - 111 1 1 | 1 EUU [
0.016 - 40000 LTl L 1 11 1 l
DD-ISB_III|III|III|III|III|III|IIH‘IUS TIIILII I|III|III|II |III| I|III _EDDDD:III|III|III|III|III|III|IIH‘IDS _III III|IIII|IIII|IIII|IIII|IIII|IIII|III L1 1
' 20 40 60 80 100 120 DFEH 80.0160.0160.0164.0160.01680.0170.017D.01749.0176 0 20 40 60 80 100 120 —S%DGQIDDG«E‘BDDG{EDDGH 0000 0 10002000@E0O00E000G0000
pattern_number yield _sam4 pattern_number asym_samd/ppm

run5463 000 pairTree sam4.png



yield_sam6:pattern_number {ErrorFlag==0)} yi eld sam6 { EI'FDI'F|3.Q ==O} asym_sam6/ppm:pattern_number {ErrorFlag==0} asym_sam6/ppm {ErrorFlag==0}

6000 :

: - htemp - so00]" PairTree

- 7000 T T T i
01122 - i I D U A S D N i s i

- Entries 160599 4000 TT Tl T : Entries 160599
0.0112kw - Z 4000

iR e - Mean 0.01117 ! - Mean -1.042
D-I -I -I B I _ : g EDUD __ EUDD [T 1LLH] L1 L] I 11 | [ | :

y ' : Std Dev 1.505e-05 : 3000 Std Dev 1840
.D‘I‘I‘IE 4000 0 HeHgeaaEEeHEE e aHEE80BRRE BaagRaRERE Bb i
011148% 3 3000 _ UL U P HUOUUHPUTUUSHLL UULLG] UL B

: . B —2000 1 [ I T TTHIT |Y 2000 i
01112 — 2000 :_ : B

i Z 4000 | || L UL T 1 1 1000 —
DIHH__ ‘IDDD:— BE B - | B R . i
I‘:I‘I.II‘:IB_I [ 1 | L1 1 | L1 | | L1 | | I 1 1 | I 1 1 | | :":1“3 _I | | 1 1 |_I L 1 | | L 1 1 | L 1 1 | L 1 1 | l J L 1 1 _EDUU_I [ 1 | I 1 1 | I 1 1 | I 1 1 | I | | I 1 1 | L 1 :":‘IDS DI_ | | | I | | I | | I | I 1 1 [ | |

20 40 60 80 100 120 B.m 108.0110.0111€2.01118.01118.01118.011D2.01122 0 20 40 60 80 100 120 -6000 -4000 -2000 0 2000 4000 6000
pattern_number yield_sam6 pattern_number asym_sam6/ppm

run5463 000 pairTree sam6.png



0.0105

01048}~ .

01042

0.0104

01038

yield_sam8:pattern_number {ErrorFlag==0}

P O

Ly ey
HIE
e

e 0
i 1

20 40 60 80 100 120

pattern_number

run5463 000 pairTree sams8. png

x10°

6000

5000

4000

3000

2000

1000

yield_sam8 {ErrorFlag==0}

L .

htemp

Entries 160599
Mean 0.01044
Std Dev 1.368e—05

=1

|
0

1038 0.0104 0.010420.010440.010460. D1D4ED D‘IDS

yield_sam8

4000

2000

-2000

-4000

-6000

0 20 40 60 80

asym_sam8/ppm:pattern_number {ErrorFlag==0}

L1
[iN]
LIy
Ll
(1]
(K]
(1]
(K]
Ly
Ll
(K]
(K]
(K]
(K]
LIy
Ly
(K]
(1]
(1]
[l
(K]
[l 1]
[l 1]
(K]
(K]
(K]
[l 1]
i
i
[l 1]
(K]
[l
(K]
i
Ll

100 120

pattern_number

x10°

asym_sam8/ppm {ErrorFlag==0}

ss00f- PairTree

- Entries 160599
3000

a Mean 0.1909
2500

i Std Dev 1836
2000
1500~
1000
500

| | | I | L1 1 | I | I 1

fo00 2000 2000 0 2000 4000

asym_sama8/ppm




yield_sam1:pattern_number {ErrorFlag==0)} yi eld sami { EI'FDI'F|3.Q ==O} asym_sam1/ppm:pattern_number {ErrorFlag==0} asym_sam1/ppm {ErrorFlag==0}

- oooF htemp so00F - : PairTree
D.D‘IEE_— i L T ToTTTo | TT 3500 —
. B Entries 160599 =T T - Entries 160599
= 6000 4000+ -
i - 3000
- Mean 0.01509 | _ Mean 2.529
000 — | i
5 ' 2000 2500
B Std Dev 2.484e-05 J i Std Dev 2104
4““':':_ []1:553;3;53;3533:5;;35552 HeHHERHERE B Enﬂn:—
3000 ik -
- 2000 1500F
2000~ I 1000
= —4000 = . -
. - -6000 [ -
III|III|III|III|III|III|II'.?""f.‘“‘....‘l3 D_IIII III|IIII|IIII II|II _III|III|III|III|III|III|II:":‘IDS D_IllI|III|III|III|III|II|I
20 40 60 80 100 120 0.015 0.01505 0.0151 0.01515 0.0152 0 20 40 60 80 100 120 6000 -4000 -2000 0 2000 4000 6000
pattern_number yield_sam1 pattern_number asym_sam1/ppm

run5463 000 pairTree sam1.png



yield_sam3:pattern_number {ErrorFlag==0}

0.032

:.-l-_l T 1 | |
e
"E_'..-u".__'
e

0.0315[L B

0.03

: *
Pl
i )

-
e

=

0.0295

D_DEQIII|III|III|III|III|III|II

20 40 60 80 100

pattern_number

run5463 000 pairTree sam3.png

x10°

yield_sam3 {ErrorFlag==0}

6000 htemp
i Entries 160599
5000 |—
i Mean 0.03078
4000
B Std Dev  0.0003292
3000—
2000—
1000
_IIIII_ |||||||||||||||||I|I||
0029 00295 003 0.0305 0031 00315 0.032
yield_sam3

asym_sam3/ppm:pattern_number {ErrorFlag==0}

40000

30000

20000

L
(1]
LI
(1]
(1]
(1]

i
(K]
LT
LLd
Ll
(1]
(1]
K
LT
Ll
Ll
(1]
W1
[lli]
i
[l 1]
i
i
i
i3
[l 1]
i
i3
[l
i
[ill]
i ]

i[5

[l ]

20 40 60 80 100 120
pattern_number

x10°

asym_sam3/ppm {ErrorFlag==0}

: PairTree
3000/ I
- Entries 160599
2500 :— Mean -3.589
1500
1000 —
500
D_II | ] ] | L1111 | || | L1 | L1111 | L1111 | | | ] ] | [
L 40000300062000010000 0 10000200003000040000

asym_sama3/ppm




02145

0.0214

02135

yield_samb5:pattern_number {ErrorFlag==0}

Fd L] T T T T [ 1

o

0.0213 et £

02125

0.0212

20 40 60 80 100 120
pattern_number

run5463 000 pairTree sam>5.png

x10°

7000

6000

5000

4000

3000

2000

1000

yield_sam5 {ErrorFlag==0}

htemp

Entries 160599

Mean 0.02131

Std Dev 2.974e—05

_III|I

0.0212 0.02125 0.0213 0.02135 0.0214 0.02145

yield_sam5

5000

4000

3000

2000

1000

-1000

-2000

-3000

-4000

-5000

-]
T Tl T
(4]
[}
H]
Ll
(1]
[N
(K
(K]
L7
[
LI
(K]
(1]
[}
(K
[
1]
(K
[l
[l i]
[l 1]
i
i
i
i3
[l 1]
i
i[5
i

asym_sam5b/ppm:pattern_number {ErrorFlag==0}

TSR T T 17T
|
{
Y
1
1
1
1
1
|
|
|
|
|
|

i
i1
(]
i[5
[ )]

:‘_3{ L L

- |||||||j{|=i||||i||||i=

20 40 60 80 100 120

pattern_number

x10°

4000

3500

3000

2500

2000

1500

1000

500

-5006-4006-3006-2006-1000 O

asym_sam5/ppm {ErrorFlag==0}

PairTree

Entries 160599

Mean —-1.758

Std Dev 1315

1000 2000 3000 4000 5000
asym_sam>S/ppm




yield_sam7:pattern_number {ErrorFlag==0)} yi eld sam7 { EI'FDI'F|3.Q ==O} asym_sam7/ppm:pattern_number {ErrorFlag==0} asym_sam7/ppm {ErrorFlag==0}

0.0404 hte M p 8000~ - [ PairTree
. 6000~ Entries 160599 000 [[TITII[IT]T] T T 35001 Entries 160599
0.0402} | i - -
B SUDD:— Mean 0.03978 45551‘ LLTTSnndmdt L [ nhonmdd [T BDDD:_ Mean —0.458
0.04 - | :
i 2000 5 2500~
40000 Std Dev 0.0001284 : : Std Dev 3721
0.0398 : EI?-EE:EEEEEEEEEEEEEEEEEEEE SEHEERERRERE B EDDD:_
: 3000 — I -
iRl - - 2000 I | 1500(
0.0396 /] | # - TL|TY Itk Bin[y NI -
) } 2000— —4000 THUTTT TLTTY HETYRT 1T 1 -
| i 1 1000
0.0394 (000 : —6000 1 -
i CLLLELLL L LD L L DL 1T 500
0.0392 3 i —8000 } 3 -
|||||||||||||||||||||II|IIH‘IU |I|| III||||||||||I I|||| |||||||||||||||||||||II|||H‘ID Dllll||||||||||||||||||||||||I|I|||
20 40 60 80 100 120 00392 0.0394 0.0396 0.0398 0.04 0.0402 0.0404 0 20 40 60 80 100 120 000-6000-4000-2000 0 2000 4000 6000 8000

pattern_number yield_sam?7 pattern_number asym_sam?/ppm

run5463 000 pairTree sam7.png



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

- - —10¢ -
— | — | - W
0.02F _=0¢ 0.02F 0.02F —14¢
[:11:‘;15E DEHEE nmﬁz -
‘ : —60( ‘ : —an ‘ - u —120
0.01F 0.01F 0.01F
n —50( - - —10¢
0.005 0.005 80( 0.005
- - - 80¢
O O O
0.005F _0.005F- 40( _0.005F- &0C
-0.01F -0.01F -0.01F 40(
- - 20( -
-0.01 5:— -0.01 5:— -0.01 5:— - 20¢
_D‘D2:_| | | | | | | | | _U‘GE:_| | | | | ~0.02p | | | | | | |
| L1111 1111 L1111 1111 1111 L1 11 L1 11 L1111 | | | | | | 1 | | | 1 | | | | | | 1 D L1 11 L1 11 L1 11 L1 11 L1 1 1 L1 11 L1 11 L1 11
-0.02-0.015-0.0+-0.005 0 0.005 0.01 0.015 0.02 ~0.01 ~0.005 0 0.005 0.01 ~0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 0.002
asym_samz2 asym_samd asym_samé
0.01 —10¢ 0.01 0.01
i i —{70¢ i —[B0C
[ —80( B &0 B —70C
0.005\— - 0.005\— 0.005 g
- - - —B0(
- - —50( -
- - -
I I I 50(
0 0 40¢ 0
- - - 40(
I I I 30(
-0.005}- -0.005}- -0.005}- u
- - - 20¢
] ] ] Tl . 10¢
~0.01 ~0.01 -0.01
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III | | | | | | 1 | | | | 1 | | | | | | | 1 | IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII
-0.02-0.015-0.0+-0.005 0 0.005 0.01 0.015 0.02 ~0.01 ~0.005 0 0.005 0.01 ~0.002-0.0015-0.001-0.0005 0 0.0005 0.001 0.0015 0.002
asym_sama2 asym_samd asym_sameé
0 nn)_f 0 m:r)_[ 0 m:r)_[
- - - —80¢
N - —14¢ N " _laoc N
0.0015 0.0015 0.0015
. . . —70(
- —12¢ - —70( -
0.001 0.001 0.001
N - n —B0C
7.0005 J.0005 ® 7.0005
- - " 50(
0= 0= "
- - = . 40(
- . -
- B [
).0005 : 7.0005 : 7.0005 : 20
-0.001F -0.001F ~0.001F 201
).0015 ).0015F ).0015F 10(
N us | [~ " I N
_DLGGE_|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIIIlIII —D.ﬂﬂE_l | | | | | 1 | | | | 1 | | | | | | | 1 | —D.ﬂ _IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII
-0.02-0.015-0.01-0.005 0 0.005 0.01 0.015 0.02 -0.01 -0.005 0 0.005 0.01 2%002.0.0015.0.001-0.0005 0 0.0005 0.001 0.0015 0.002
asym_samz2 asym_samd asym_sambé
anmy anmy anmy
. —22¢ . .
- - 1o - = —12¢
- el -1 - - N
0.001 0.001 0.001
- —18¢ i - —10¢
- - —80( -
- —16¢ - -
7.0005 7.0005 7.0005
[ 14¢ | [ 80¢
- 12¢ i - Ry
0 0 o 60K
- 10¢ - - :
- 80¢ - -
).0005 7.0005 7.0005 40¢
- 60C . . -
- 40¢ - 20¢ -
~0.001 ~0.001 ~0.001 20¢
i L] 20¢ i |
_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III _l | | | _IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII

0. D1 —-0.005

run5463 000 asym sam2468 ‘mutual correlation:COIL.Z.png ="

asym_sam38

- - -
0.02] 22
- —{20¢
0.015F
- —{18(
0.005F
0
~0.005
-0.01F
-0.015F- g
-0.02
_III|IIII|IIII|IIII|IIII|IIII D
-0.001 -0.0005 0 0.0005 0.001 0.0015
asym_sam8g
0.01—
i —{10¢
0.005H _l8oc
D_
-0.005
- [
—0.01
III|IIII|IIII|IIII|IIII|IIII D
-0.001 -0.0005 0 0.0005 0.001 0.0015
asym_samég
Dnn)_[
N [ |
- —{12(
0.0015
0.001 —10¢
1.0005
O
1.0005
-0.001F
n ]
0.0015 "
N [ |
_ _III|IIII|IIII|IIII|IIII|IIII
0.002=="0 007 —0.0005 0 0.0005 0.001 0.0015°
asym_sam8g
anmy
- —{80(¢
0.001— —|70¢
- —{60(¢
2.0005H
D_
3.0005|—
—0.001—
_III|IIII|IIII|IIII|IIII|IIII

—0.001 -0.0005 0 0.0005 0.001 D.D{HED
asym_sam8g



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

%2 / ndf 41.51 /37 -
p0  2.894e-07 + 4.957e—07 =
p1 0.9994 + 0.0001 e
0.005
0
-0.005
-0.01F =
0015 7
—D.ﬂ2ﬁ||*|||||||||||||||||||||||||||||||||||||||||||
~0.02-0.015-0.0-0.005 0 0.005 0.01 0.015 0.02 0.025
¥/ ndi 40.94 | 37
§
PO —5.2256-06 + 6.016e-06 + |
it -
p1 0.3072 + 0.0015 AT
#+
Cor factor 0.6518
OF
-0.002 1l
B gy
0.004 L
. .
0.006 - hl
B +
0.008 Wl
_I|IIII|IIII|IIIIIIIIIIIIIIIIIIIlIIII|IIII|IIII
~0.02-0.015-0.0-0.005 0 0.005 0.01 0.015 0.02 0.025
S ¥2 1 ndf 38.82 /37
0.001 H}ﬁmﬁ* pO0 —8.374e-07 + 7.636e-07
i n
B +J[ & p1 —0.06767 = 0.00019
7.0005
B Cor factor -0.8287
0
).0005
B Ty
- p 1l
—0.001 +q++
i A
).0015
_I|IIII|IIII|IIIIIIIIIIIIIIIIIIIlIIII|IIII|I_III
~0.02-0.015-0.0+0.005 0 0.005 0.01 0.015 0.02 0.025
¥/ ndi 38.45 / 37 -
+Jf+1‘
PO 1.933e-07 + 3.557e-07 A
.|.
+t
p1 0.05531+ 0.00009 5 #
Cor factor 0.9346
D_
).0005 |- )
i &
= f.
i +4++*“
0001 +
-t
TlllllllIIII|IIIIIIIIIIIIIIIIIIIlIIII|IIII|IIII

runs5463 000 asym

¥2 / ndf 43.77 /38 1—
p0 9.68e—06 + 1.28e—05 } )
p1 1.393 £ 0.007 h ﬂﬂl )
++J‘++|'+ il
Cor factor 0.6518 ¥
WA —
0
—D.GGE:—
- TN
i H
-0.01- +J[ 4}#{}
—D.ﬂ15_—|'"'l""l""l""l
—0.01 —0.005 0 0.005 0.01
%2 [ ndf 30.61/38 -
p0  1.065e—07 + 2.296e—07 =
o1 0.9992 + 0.0001 3
D L
~0.005— =
—D.D1 - | _I | | | | | | | | | | | | | | | | | | |
—0.01 —0.005 0 0.005 0.01
- ¥? / ndf 46.31/ 38
0.4
I p0 —1.2092—06 + 1.34B206
0 2'_ ﬂ} + p1 —0.03318 + 0.00069
L 1
N #HJr Cor factor —-0.1842
o %
_0.21 ﬁ {H [
0.4
0.6
— | | | | | | 1 | | | | 1 | | | | | | | 1 |
—0.01 —0.005 0 0.005 0.01
2 { ndf 36.32 / 38 {
p0 6.998e07 + 7.253e07 +
p1 0.0864 + 0.0004 P B
it
Cor factor 0.6869 ++++ t
1.0002
O
1.0002
1.0004 - o
0.0006 m ]LHHP#
0.0008 {
: | | | |

0.005

‘sam2468 mutual corre

latio

DD‘I

IN-

fit.

asym_sam6

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

¥/ ndf 45.41 /35
pO —1.297e-05 + 9.450e-06
p1 -10.29 + 0.03

Cor factor -0.8287

Fyp

1++"_FI-+'|' +
K L-} i

—-0.002-0.0015-0.003-0.0005 0 0.0005 0.0010.0015 0.002

asym_sam6
L %2 / ndf 4405/ 35
0.004 |
- p0 ~1.169e—05 + 7.795e—06
I p1 ~1.064 + 0.023
0.002| } H
u ﬁ % Cor factor -0.1842
: } | _
i 11-
_Jr Wrﬂ w
_0.002— } {
-L‘:.nm_—
_I L1 11 I L1 11 | L1 11 | L1 11 | L1 11 | L1 1 1 | L1 11 | | I_I | |

—-0.002-0.0015-0.003-0.0005 0 0.0005 0.0010.0015 0.002

%2 | ndf 38.02 /35
p0  3.417e-09 + 4.328e-08
o1 0.9988 = 0.0001 3
0
1.0005
-0.001F =
2.0015 <
:III_IIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|
~0.0020.0015-0.00+0.0005 0 0.0005 0.0010.0015 0.002
1.001
- %2/ naf 42.67 /35
0.001
N pO —4.478e—07 £ 725807
7.0008
- + p1 —0.5076 £ 0.0022
0.0006 4 Jﬁ
- | wﬂr Cor factor ~0.6872
1.0004F }l K
).00021
O
).0002
0.0004 y
= +ﬁ+l-++][+
0.0006 +14
:IIIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|

—-0.002-0.0015-0.003-0.0005 0 0.0005 0.0010.0015 0.002

png

asym_sam38

¥/ ndf 55.53/ 36 -
p0 —4.408e—07 + 5.988e—06 *ﬂr _
p1 15.87 + 0.03 #ﬁ
5+
+++
Cor factor 0.9346 =
0.005
0
-0.005F
~0.01 a
- #
-0.015F “ﬁ
-k
—DLGE_—III|IIII|IIII|IIII|IIII|IIII
—0.001 —0.0005 0 0.0005 0.001 0.0015
%2 { ndf 26.26 / 36 -
p0 _6.482e06 + 577306 } J )
p1 5.443 + 0.024 #Jf 1}
++t|-J[ )
Cor factor 0.6869 aft -
0.002—
o
-0.0021
-0.004— T
- th
_0.006
- }l}
-0.008
—I|||||||||||||||II|IIII|IIII
—0.001 —0.0005 0 0.0005 0.001 0.0015
0.001— ¥ { ndf 82.91/36
-t |
] J[ ﬂ#ﬁm p0 —9.808e—07 + 9.877e07
1.0005 g
| p1 _0.9684 + 0.0042
: Cor factor —0.6872
D_
7.0005 s } -
i Y _
| 4
_ {HlU
—0.001 -
7.0015—
_I|||||||||||||||II|IIII|I_III
—0.001 —0.0005 0 0.0005 0.001 0.0015
0.001 Entries 80272
B = Mean  3.829e-08
1.0005
i Meany 3.829e08
o Std Dev 0.0002768
, Std Dev y0.0002768
1.0005 .
-0.001 .~
_II-FI|||||||||||||II|IIII|IIII
—0.001 —0.0005 0 0.0005 0.001 0.0015




asym_sam

asym_sam

asym_sam

asym_sam

rund5463 000 asym

asym_sam?2

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III
-0.02-0.015-0.01+-0.005 0 0.005 0.01 0.015 0.02
asym_samz2

asym_sam?2

0.01—

0.005—

-0.005—

-0.01

-0.02-0.015-0.0+0.005 0 0.005 0.01 0.015 0.02
asym_sam?2

asym_ sam2

0.00

J.0015

0.001

J.0005

.0005

—0.001

1.0015

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—D.D%D.ME—D.DLD.D{}E 0 0.005 0.01 0.015 0.02
asym_samz2

-0.002

ym sam2

J.001
0.001—

J.0005—

1.0005

0001 LT

‘sam2468 “mu

tual

asym_samd4

0.02

0.015

0.01

0.005

-0.005

-0.01

=
I|IIIIIIIII|IIII|IIII|IIII|IIIIIIIII|IIII|III

0.005

0.01

asym_samd

0.01—

0.005—

-0.005—

0.00

asym_ sam4

0.005

0.01

asym_samd

J.0015

0.001

J.0005

2.0005

-0.001

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

0.005

0.01

asym_samd

J.001

0.001—

J.0005—

J.0005—

-0.001—

ym sam4

DEH

-0. DIEI'E

corre

lafion-sca

asym_sam6

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

—0.002-0.0015-0.00%+0.0005 0 0.0005 0.001 0.0015 0.002
asym_samé

asym_sam6

0.01—

0.005

-0.005

-0.01

—0.002-0.0015-0.00%+0.0005 0 0.0005 0.001 0.0015 D.002
asym_samé

0.00

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

-0.0
—OD%D{}E—D.UME—D.UM—D.DGDE 0 0.0005 0.001 0.0015 0.002
asym_sambé

J.001

0.001

J.0005

J.0005

-0.001

asym_ samo6

ym samo6

—0.002-0.0015-0.00%-0.0005 0 0.0005 0.001 0.0015 0.002

t.png

asym_samé

asym_sam38

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

asym_sam38

0.01—

0.005

-0.005

-0.01

0.00

J.0015

0.001

J.0005

2.0005

-0.001

J.0015

-0.002

J.001

0.001

J.0005

J.0005

-0.001

—-0.001

—-0.0005

0

0.0005

0.001 0.0015
asym_sam8g

—-0.001

—-0.0005

asym_ sam8

0

0.0005

0.001 0.0015
asym_sams

—-0.001

—-0.0005

0

0.0005

0.001 0.0015
asym_sam8g

asym_ sam8

—-0.001

—-0.0005

0

0.0005

0.001 0.0015
asym_sam8g



asym_saml

asym_samJ3

asym_samsS

asym_sam’7

runs463 000 asym

0.00

0.002

0.001

—0.001

-0.002

-0.003

asym_saml

—80C

—70C

—60(C

—50C

0
-0.003 -0.002 -0.001 0  0.001 0.002 0.003
asym_sami
n.ny =
0.008]- = e
0.006F —70(
0.004 et
0.002F
-
O
0.002
0.004
-0.006 -
-0.008 -
N |
_Dhﬂll_llIIII|IIII|IIII|IIII|IIII|IIII D
-0.003 -0.002 -0.001 0  0.001 0.002 0.003
asym_sami

1.0025F
- m
0.002F —30¢
2.0016F
- —25¢
0.001F
7.0005F
0
).0005
—0.001F
).0015
-0.002F
:IlIIII|IIII|IIII|IIII|IIII|IIII D
—0.002 —0.002 —0.001 0 0.001 0.002 0.003
asym_sami
}_7 — —80(
7.0015
N 700
1.0005— —{s0¢
-
ol 40(
Z 30(
).0005 -
- 20(
—0.001+
N 10¢
[ ] n
).0015 -

‘sam1357

0

0.002 0.003

I

D.Dﬂy == n.nny ==
- —80¢ -
- - —30¢
0.002 0.002
B —{70¢ B
- - —25(
0.001 —B60( 0.001
- - 20¢
= =
i i 15¢
~0.001 ~0.001
- - 10¢
_0.002F _0.002F
- - 50(
- 10¢ -

-0.003} O -0.003 O
_III|III|III|III|III|III|III|III|III|III _III|IIIIIIIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIlIIIII
~0.040.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 —0.060.0019.06-0.0005 0 0.0009.000.0015.008.0025

asym_sam3 asym_samb
m.ny — m.ny —
- —(80c - {80t
0.008F 0.008F
n —70( n ]
0.006 0.006 700
0.004 i 0.004 —B0(
0.002F 50( 0.002F 500
- N O
e 40( e 40(
-0.002 -0.002
- 30( _ 30¢
-0.004F -0.004F
- 20¢ - 20¢
-0.008F -0.006F
_0.008F 100 _0.008F | 10
N [~ |
_Dlﬂ_III|III|III|III|III|III|III|III|III|III _Dlﬂﬂl_lll|IIIIIIIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|
04.010.0080.0080.0040.002 0 0.0020.0040.0060.008 0.01 —0.060.0019.06-0.0005 0 0.0009.000.0015.008.0025
asym_sam3 asym_samb
1.0025F 1.0025 —80¢
- —80¢ -
0.002F- 0.002F- 7o
- —70( -
1.0015 1.0015
- soc - —60(
0.001F _ 0.001F
- - —50(
7.0005 7.0005
7.0005 7.0005 20(
—0.001F —0.001F
= = 20¢
2.0015 2.0015
- 10¢ - 10¢
-0.002 . -0.002
:III|III|III|III|III|III|III|III|III|III :III|IIIIIIIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|
~0.010.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 —0.0060.0019.06-0.0005 0 0.0009.000.0015.008.0025
asym_sam3 asym_samb
N N —{aoc
2.0015 O —16( 2.0015
- - —{70¢
B —14( B
0.001 0.001
- - —60C
N —12( N
2.0005 2.0005 c0c
N 10¢ N
l l 40(
or 80¢ or
2.0005 60K 2.0005 300
- - 20¢
~0.001 40t ~0.001
- . -
- - 10¢
[ = L] 20¢ N L] N
7.0015 1.0015
_III|III|III|III|III|III|III|III|III|III _III|IIIIIIIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|

tual Correlation-CO

0
—CpeSa 00 18).08-0.0005 0 0.0009.000.0015.00D.0025
I p n asym_samb
. g

asym sam’7/
0.0037 — —80(
i —{70(
0.002
E —60(
0.001F
- = —50(
o
o |
0,001
—D.D{}E:—
B ]
_0.003 =
_Il||||||||||||||||||||||||I|||||||

-0.0015 -0.001-0.0005 0O

0.0005 0.001 0.0015
asym_sam7y

asym_sanﬂ
0.0

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01

—16(

—14(

—12(

-0.0015 -0.001-0.0005 0O

0.0005 0.001 0.0015
asym_sam7

asym_sam<7

J.0025

0.002

J.0015

0.001

J.0005

0

J.0005

-0.001

J.0015

-0.002

—80(¢

—70C

—60C

I-l

o [TTT

L0015 -0.001-0.0005 0O

0.0005 0.001 0.0015
asym_sam7y

asym_sam<7

J.0015

0.001

2.0005

J.0005

-0.001

J.0015

—70C

— 60

—50(

-0.0015 -0.001-0.0005 0O

0.0005 0.001 0.0015
asym_sam7y



asym_saml

asym_samJ3

asym_samsS

asym_sam’7

asym_saml

p0

72 I ndf 43.06 / 36 "

-1.267e-07 £ 6.760e-08 =

P 0.9993 = 0.0001

—0.001

-0.002

-0.003

L
-0.003 -0.002 -0.001

0 0.00

1 0,002 0.003

%2 { nd 40.39 / 36
pO ~5.865e—06 + 6.845¢-06
p1 0.03019 £ 0.01257
Car factor 0.0069
' }Hﬁ“,, Y
O #ﬂ T
: b
-0.001— _
-0.002
0.003 *
_Dlﬂﬂq—_l|IIIIIIIIIIIIII|IIII|IIII|IIII|

-0.003 -0.002 -0.001

asym_saml

0 0.00

1 0,002 0.003

0.002

J.0015

0.001

¥/ ndf

42231 36

pO 4.323e-07 + 3.434e-07

p1

—0.7394 + 0.0006

¥2 | ndf 50.3 /37 +
pO 1.4989e06 + 2.224e06
p1 0.001971+ 0.001331
Cor factor 0.0069 + Hﬂw
A i
2.0002
1.0004F
2.0006 -
2.0008 }
_Dnﬂ"l_—l-lllllI|III|III|III|III|III|III|III|II

-0.01-0.0080.0060.0040.002 0 0.0020.0040.0060.008

asym_sam3

x= /[ ndf 41.83 /37

pld  -1.633e-07 £ 2.038e-07

Pl 0.9991+ 0.0001

U. UL

-0.002

-0.004

-0.006

-0.008

-0.01+0.0080.0080.0040.002 0 0.0020.0040.0060.008

asym sam3

f

0.6

J.0005

1.0005

—0.001

1.0015

-0.002

Cor factor -0.9817

-0.003 -0.002 -0.001 0 0.001 0.002 0.003

asym_saml

¥< { ndf 36.88 /36
p0 ~1.03e—06 + 1.25¢ —06 ]
p1 0.04218 + 0.00230 }l
Cor factor 0.0709 }[
of- } +++M mﬁ } |
- }Lﬂ ; |
02| N
_0.4
o
HE T Y NS R N S

runs5463 000 asym

-0.003 -0.002 -0.

0.4

0.2

-0.2

-0.4

-0.6

=
I|III|III|IIIIIII|III|III|III|I
|
|
—_—
' L

¥2 { ndf 48.74 | 37
p0 —1.087e—06 + 1.777e—06
p1 —0.02942 + 0.00106

Cor factor -0.1104

asym_sams

0.002

0.001

-0.001

-0.002

-0.003

¥2 | ndf 33.77 /36
p0 5.942e07 + 4.290e-07
p1 ~1.22 + 0.00

Cor factor -0.9817

-0.002  -0.001

asym_samJd

0.003

0.002

f

0.001

f

-0.001

-0.002

-0.003

-0.004

_|_|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

¥2 { ndf 25.03/ 36
p0 ~8.983e—06 + 6.824e06
p1 ~0.4328 + 0.0158

Cor factor -0.1104

| M#r
H M‘»N##{HH} M

+

-0.002  -0.001

asym_samJd

2 { ndf 29.75/ 36

p0

pi

3.695e—

09 = 5.322e-08

0.9991x 0.0001

“WH

1

-0.0%+0.0080.0060.0040.002 0 0.0020.0040.0060.008

¥2 { ndf 58.31/37 }
F—
p0 —1.953e—07 + 5.688e07 +HLP+
++
p1 0.1644 + 0.0003 Foad
Cor factor 0.8913
ol
7.0005—
0001k i
i H
_III|III|III|III|III|III|III|III|III|II
Dl[] 0020 DWD 0060.008

sam1357 mutual corre

tion-fit.p

J.0005

J.0005

-0.001

J.0015

-0.002

-0.002  -0.001

asym_samJ

asym_sam?7/

72 [ ndf 2516/ 37

p0 1.926-06 + 2.22e-06

o1 0.1218 = 0.0073

Cor factor 0.0709 } )

7.0004 k

1.0002 & k I
| |

J.0002
J.0004

J.0006

i

-
||||||||||||||||||||||||||||
| :
I—'-_|='

2.0008

—0.0015 -0.001-0.0005

0 0.0005 0.001 0.0015

%2 / ndi 29.22 /37 -
PO —9.348e—07 + 3.116e-06 +}++
1
p1 4853 = 0.010 +++‘“'
ey
Cor factor 0.8913 ] ;
0002
oF
-0.0021
-0.004 e
B HI_++|'I'
~0.0061 L—H
C ¢ }l
-0.008[
_Il||||||||||I||||||II|IIIIIIIII|II

—0.0015 -0.001-0.0005

asym_sam<7

0 0.0005 0.001 0.0015

J.0008

—_—

J.0006

J.0004

0.6

0.4

0.2

I
[ —
—_—

-0.2

-0.4

-0.6

¥2 { ndf 28.82 /36
p0 ~1.621e—06 + 1.241e—06
p1 ~0.1215 + 0.0029

Cor factor -0.1692

%W i

-0.002  -0.001

ng

2.0002

0

J.0002

2.0004

J.0006

J.0008

-0.001

J.0012

—-0.0015 -0.001-0.0005

¥/ ndf 25.22 137
pO -1.399e-06 + 1.767e06

p1 —0.2382 + 0.0058

Cor factor -0.1692

++Jq

ﬂm }

0 0.0005 0.001 0.0015

7.0015 hte“lp
: Entries 80272
0.001—
= e Mean -7.994e -0F
7.0005—
n Meany -—7.094e 07
o Std Dev  0.0003478
i Sted Dev y 0.0003478
1.0005
~0.001— a
:].ﬂﬂ15__||||||||||||||||||||||||||||||||||

—-0.0015 -0.001-0.0005

0 0.0005 0.001 0.0015



asym_saml

asym_samJ3

asym_samsS

asym_sam’7

asym_saml

0.00

0.002

0.001

—0.001

-0.002

-0.003

-0.003 -0.002 -0.001 0 0.001 0.002 0.003

asym_sami

asym_saml
0.0

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
IIIIIIIIIIIlIIIlIIIlIII|III|III|III|III

_Dhﬂ‘IIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-0.003 -0.002 -0.001 0 0.001 0.002 0.003

asym_sami

asym_saml

J.0025—

0.002

J.0015

0.001

2.0005

1.0005

—0.001

1.0015

-0.002

=
TTTTTTTI TTTTTTTTTTTTTTTTITITTITTTITTTI T ITITTITITI
I I I I I I I I I

-0.003 -0.002 -0.001 0 0.001 0.002 0.003

asym_sami

asym_saml

J.0015

0.001

2.0005

1.0005

—0.001

1.0015

=
T ' T 1T ' T TT LI ' T TT1 T TT T T L
I I I I I I I

asym_sam3

0.00

0.002

0.001

-0.001

-0.002

-0.003

—-0.040.0080.00€0.0040.002 0 0.0020.0040.0060.008 0.01

asym_sam3

asym_sam3
0.0

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
IIIIIIIIIIIlIIIlIIIlIII|III|III|III|III

_DPE...|...|...|...|H.|...|...|...|...h..

.04-0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01

asym_sam3

asym_sam3

J.0025—

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

-0.002

—-0.040.0080.00€0.0040.002 0 0.0020.0040.0060.008 0.01

asym_sam3

asym_sam3

J.0015

0.001

2.0005

J.0005

-0.001

J.0015

=
I|IIII|IIII|IIII|IIII|IIII|IIII|II

asym_sams

0.00

0.002

0.001

-0.001

-0.002

-0.003

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

asym_samb

asym_samS
0.0

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
IIIIIIIIIIIlIIIlIIIlIII|III|III|III|III

—D.ﬂ1 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

asym_sam5b

asym_samJd

J.0025—

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

-0.002

=
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—-0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

asym_samb

asym_samJd

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

=
I|IIII|IIII|IIII|IIII|IIII|IIII|II

—-0.00:0.0018.08-0.0005 0 0.0009.000.0015.008.0025

run3463 000 asym saml1357 ‘mrutual correlation=scat.png

asym_sanﬂ

0.00

0.002

0.001

-0.001

-0.002

-0.003

-0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_sam7y

asym_sanﬂ
0.0

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
IIIIIIIIIIIlIIIlIIIlIII|III|III|III|III

_Dlﬂ-‘lIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-0.0015 -0.001-0.0005 0  0.0005 0.001 0.0015
asym_sam7

asym_sam<7

J.0025—

0.002

J.0015

0.001

J.0005

J.0005

-0.001

J.0015

-0.002

0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_sam7y

o [TTT

asym_sam<7

J.0015

0.001

2.0005

J.0005

-0.001

J.0015

=
I|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_sam7y




